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I (10 pra) Write out the mechanism for the following transformation,
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2. {10 pts) Carry out the fellowiag transformarions. Use any roagents vou like.
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3 (10 prs) Carry out the Zollowing transfermarions. Tlse any reagents you Lke.
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4. (10 pts) Write out the mecharism for the following transformazion
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5 (10 prs) Carry ot the tollowing trans[ormatons. Use any reagents vou hke.
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5. {10 pts) Which is the strenger hase? Why"
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7. (5 + 3 ps) Carry out the following ransfonnalien:. Use any ceswenls you lika,
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B (10 pis) Wirite out the mechanizio Gor the fellowing transformation
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0 (%4 T+ 3= 5 pra) Carry ot the Tollewing cansfenations, Use any reagents vou like,
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